Factoring Practice
Factor completely.

1. ¥ — 49

2. d* +10d + 9

3. K + 8kf— Of

4. 5x? — 28x — 49
5. d* — 14 + 49
6. 50k — 40k* + 75k — 60
7. 125x% — 343°

8. 12g° + 15 —8g — 10
9. —15x% - 21x

10. sx* — 22x — 15
11. 49b% — 36

12. A+ 5d + 9

13. 54c°d + 9 d®
14. d* + 11d + 28
15. G4z + 1_):3

16. 6g°+11g—35
17. 32p° — 12p —27
18. I6xe — 2%

19. 512x% 4+ 2t
20. fdx® + 513y"
21. gx% + 12x — 16
22. 21x7 + 55x + 14
23. 2x? + 10x

24, K — 164"

25. a® + ab — 56b°
26. ax? 4+ Iix + 35
27. d% - 8d + 16
28. == ly"’

29. K — 250

30. 9x? — 14

31. 48K — 64k + 120k — 160
32 54y? — 81y — 105
33. 4x” — 81y

34. 15x% — 16xy+ 4y
3s. 12d° + 4d — 1
36. I+ kf—2f

37. 162 + 40x + 25
38. 1672+ 24j + 9
39. az5x% — 16yt
40. x - 8y3

41. 15¢° + 10g> — 12g — 8
42. x4 12x + 35
43. x — 10007

44, 4% — 104 + 25
45, F—x—42

46. 160y* — 4y — 24

47. 1000x* + 13°

21m* — 29m — 10
6g” — 11gh — 10h*>
xt =129

21w’ + 35w’

36y° — 84y — 147
4957 4+ 704 + 25
3x% + 26x + 35

x = Tx - 30

6g” +8g>— 15g — 20
45" -9

g1xt — 1298p"
w?+ 18w + 77
48g° — 22gh — 15k’
6x° + 5x + 1

16m> — 24mn + 9n°
G4k 4 1445 + £1
2* — 184 + 81
3+ 7x—6

i+ Tkf— 307
21g° + 32g — 64
X 10xy + 2-4y2
- zleyp?

40w + 16w°

45y" — 24y — 48
F29x% — 2160

ax? 4 12x 4+ 4
40p° — 13p — 36
2+ 8d + 16

48k% — 72k + 60k — 90

18g° + 33g — 40
A= 11x + 28
10x% + 51x + 27

10057 + 605 + 9

120k% — 48k + 160k — 64

X - 2x— 63
2 —fx+ 8

30 + 3 +x+ 1

6x* —9x® — 36x7 + 54x

2x¥ 4+ 4x® 4+ Bx
20x% 4+ 23x— 12
o+ 14x + 48
K — ah?

—8x? — 12x — &8
10x% + 51x + 56
a + ab — 2b°

Simplify.

93. (8m + T)*

94, (2x — 6)°

95. 8p(—3p° + 6p —2)

96. 2r% + 4n + 4)(4n —5)
97. (2k + 3)(2k2 — 4k — 3)
08. (4x — 6y°)

09. Bx—7)(3x—5)

100.  5a&°(3a” + 3b)



